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Section - II ;
Use simplex or graphical method of linear programming and find optimal solution. (10)

Max. Z= 2X, +7 X,
Subject to Constraints:

4X; + 10X < 80 -
6X) < 36
X1, X2 2 0-(Non-negativity)

4. Acompany solicits bids on each of the four projects from five contractors. Only one project
may be assigned to any contractor. The bids recejved (in-thousands of rupees) are given
in the accompanying table. Contractor D feels unable tq-‘ca'rr'y_--gfut,"prqject 3'and therefore,

submits no bid, SR A
Jobs Contractor ; o
A B c D E
1 20 2% 7, 24 26 25 |
2 18 R DRSS Y N T
3 30 S TSI IPRSETITE T 5
4 A S BT T ISR IS 21
@) Use the Hufigaiin srethod to find the set of assignment. )
b) What is the minigflini fetal achievable cost?” R (2)

i§ given in the following table :

BB3 r284A883Pﬁ%‘iﬁo‘?gﬁommsczw

biiity of completing the project within 34 days?

Time duration (days)
| Most Likely Time | Pessimistic Time
5 5
12 18 |
Y £ 8 '
4 17 i
24 33
6 9
15 21 N
10 16
"'_:"‘?hd estimate the expected duration of the projectsand
ertythat the project will be completed between 48 to 58 dayst?)
(2)
(2)




B\\o\w"{? Paper / Subject Code: 12303 / Operatiaris Research.
« Q
B Q.P. Code: 36494

P

Duration: 2 Hrs. .. 60 Marks.
Note: 1. Sectionlis compulsory.
2. Answer any three questions from Section Il
3. Answers of both sections may be written in the same answer book.
4. Graph papers will be supplied on request.
e 5. Figures on the R.H.S. indicated marks.
6. Use of non-programmable calculator is allowed and mobile phone is not allowed.
7. Normal distribution tabie is attached on the last page for use if required.
8. Support your answers with diagrams / illustrations, wherever necessary.
Section ~ |
1. Answer the following questions briefly: &
a) What is E.M.V? Give steps for calculatlng E M V. (3)
b) Explain the difference between free, Inteﬁerlng and mdependent float. (3)
c) Why is a non-degenerate solut;on a preféqu:sﬂe for ophmahty test of a transportation
solution? 2R Nt s (3)
d) Why an optimal solution to an unboumié\d mamm:zatron LPP cannot be found in
simplex method? : (3)
e) What is the difference betweeq slack sﬂtplus and artificial variables? (3)

._\-.

2. Consider the followi

ttansportaﬁqn,ﬂrob@ns«tﬁ\k}'!ving_ minimization of cost (in 1000)

rupees) :
Sources Supply
D4 |
1 st 27 300 |
82 14 400
83 9 500
Demand’ "} S, s 400 J
a) Fll’ld-.thg Inltlal Feas;b!e Sofutien (IFS) by est Corner Method to the above
transportathn problem. ' R (3)

A28 \*minlmumietattransponatxon cost..: (7)

), Make anaTySrs of the thlmal solufmn obtamed by yog”and answer the following
quesbcﬁs*‘\f\' ‘ ‘

\B}: Test fhe’ IES for _optimality and |f lequgred rmprc%t:so optimality and calculate

"J,
vf
%, b~ ’_.'

3" (2)
browder a discount of 50 percent on the freight on the
er be accepted? (2)

m} Wpatjsiﬁe‘ jmprance of Multiple optimal / alternate optimal solution? (1)
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B.a) A cohsumer goods Company has set up following Pay-off table for the sales returns of
their product. Three Strategies (Sq, Sy, S3) are identified to deal with three uncertain
nature (Ny, N,, N3).
S S, S3
N1 800 500 300 o
Ny 350 300 . 100 |
Nj 400 550 0 I
You are required to identify righ strategy under following criteria - .
i) Maximin A et (1)
i} Maximax B N S (1)
iii) Minimax regret. : ~ (3)
P WA
gf_“_“-\dlqt'-\a'_,naw_:ltype.of toy, The company s
it'a fu jﬁqrﬁdif.'oﬁ-mjnitﬁaf product line. The company
t acceptanc > and has' estimated ‘profit from the first year of
-~ : 2T Shown in'the following tabie

(5)

:I--.a
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